DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
12JPCM13 Class : XII
JEE PRACTICE QUESTIONS Fime: 1.15 hre
(2023-24) (TEST-13) Total Marks: 180

General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 2. An observer looks at a distant tree of height
10 m with a telescope of magnifying power of
l.In an astronomical telescope in normal 20. To the observer the free appears
adjustment a straight black line of length L
is drawn on inside part of objective lens. The A) 10 times nearer

eye-piece forms a real image of this line. The
length of the image is £. The magnification of
the telescope.

B) 20 times taller

C) 20 times nearer

L
A -1 D) 10 times taller
L+1 . . . .
B) 71 o BLOLMSHES  Hmer 20  Q&TevoTL
Qamemey GBITESH eeTmlermsy 10 LS 2 WFLD
C) I/ a . . )
] HTOTL QSTEN6V STT LTSNS RHeUT
I UTFeneuuWI®S MIT. LMTIemneUW meT([H& &
D) a7 +1 DTS 6T GHMDHMLOTETS!

@M eumelWe) QFTemnev  CrTaHSIuller
&5 [J600T Fremweilev L Herrin
Q&MeoTL. SIHemwwimeor GBI  G&m(h
QUMIHET(HE QevetT&der 2 6T Iemnailey

A) 10 LOLTBIG 2 (HS6L

B) 20 LOL_MI& 2_ WSS 6V

aleIWlILGSHmSI. 8560076001 (1H (& C) 20 IDLIBIE S|HEe
QEVEITEF TEUTS @ &HCSTLLY M & 60T
QuUWIDbLS S 2 (HUTEGHMSI. D) 10 DL BI@&E o WTE&e
LSS Bemh ( £ ) eraolleds Qs TEE : & 2-WrsH)
GBTEHEIIET 2 GLELIGESLD 3. A wire mesh consisting of very small squares
L is viewed at a distance of 8§ cm through a
A) -1 o .
! magnifying converging lens of focal length
B) ]i J_F % 10 cm. kept close to the eye. The magnification
produced by the lens is
0%
A)S B) 8
D) a%+1
0) 10 D) 20
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10 @Fl Galw STyh Q&ML @
2 BLUOUMSEGL GeleevarRedmbs 8
Q&S Qsmemevalley 2 6Tem FINw TSI
Qg6 3eMDLIL&H6T Q&MeoTL LD 6U6m6V

62 60T M) UMISSELULGRmE.  GeveT&eor
2 _(BLIGLIHE S F) M 60T TeTS!

A5 B) 8

C) 10 D) 20

4. The wavelength of light used in an optical
instrument are A, =4000A°, A, =5000A° then
ratio of their respective resolving power
corresponding to A, and A, is

A)16:25 B)9:1

C)4:5 D)5:4
0, eperfluglwiev SH(malluley
LweTU®SSLILIBID eperfludleor
2| 60)6V1H6IT MBI G5 61T (WPenmE A, =4000A°
MmO A, =5000A° eresfleb A, wHmID A,
aflmameor LNif16) m 6o erfl 6ot aﬁ]@lsﬁg;mrrafrgu

A)16:25 B)9: 1

C)4:5 D)5:4

5. An astronomical refracting telescope will
have large angular magnification and high
resolution when it has an objective lens of

A) small focal length and large diameter
B) Large focal length and small diameter
C) Large focal length and large diameter

D) small focal length small diameter

6 (IH seflaflevaev 6U et Ul 6V
QS Te6VBHITE S YIS @& mevoT
2 BUOUIMSSED WMHmID AHs L& meor
QUOMBHEE  Caler(H el & 6or
QUITHETH S QevedTE: QUMM (H&&H
GeuevoTIq U [B]LITH & 60)60T LI TEOTS

A) GDbES GNWETIn LHoIh 35S
ol LD

B) 91H& GelwgTrh LMHMID GmDmbS
el LD

0 95Hs Galwgtrn wHolh AHS
el LD

D) GmDIhS GeNlWSTILD HMID GemnMbHS
ML L LD

6. An astronomical telescope has objective
and eye piece lens of powers 0.5 D and 20D
respectively, its magnifying power will be

A)8 B) 20

C) 30 D) 40

@M eUmelley Qs memen  GBme S uller
QUITHET(HE& G6LEITEN LOMMILD &5600T600T(H (S
Qevettaseafler HmerdHeT (WemmEul 0.5D
WMMILD 20D eTeofleV BIHT 2 (HLCLIHES
&) D 6OT 0TS .

A)S8 B) 20

C) 30 D) 40

7. An astronaut is looking down on earth’s surface
from a space shuttle at an altitude of 400 km.
Assuming that the astronaut’s pupil diameter
is 5 mm and the wave length of visible light is
500 nm. The astronaut will be able to resolve
linear object of the size of about

A)0.5m B)5m

C) 50 m D) 500 m

afleorsmeusHev 2 6mem  @p  ellevorGeuer
afyy 400 &5 2 WIsH O mbEH SGL 2 6T6rT
Helluler CumurLlienu LUMFeneuulG&mT.
alevor@euefl  efyrfleor  gsevoTLIMemeu Ul 6dT
Ll L1d 5 .S nmHmiD SHevoresmimi sperfludleor,
S|emeuBeTd 500 nm  6TeOTa D G\ 00T L6V
aflevorQeuerfl afypmev LNflgsnwn Grrfluley
QuUMHerfledr 3j6TeumeTs

A)0.5m B)5m

C)50m D) 500 m

8. Diameter of the objective lens of a telescope
is 250 cm. For light of wavelength 600
nm coming from distant object the limit of
resolution of the telescope is close to
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A) 1.5 x 1077 rad

B)2.9 x 10" rad

C)3.0x 107 rad

D) 4.5 x 1077 rad
R0 QFTmey CHTHERUNDT QUITIHETIHGS
QeveT&eor &l LD 250 cm. Gald 600
nm oeme) [HeTD Q&MeooTL.  sperflulmeTss
QSTMVETTSHHL 2 6T QUITH6T160[HH S
AIBSHTL QFTemev CBTEGH U6 LIS meor
6T6V 606V LI TEOT S

A) 1.5 x 1077 rad

B)2.9 x 10" rad

C)3.0x 107 rad

D) 4.5 x 1077 rad

9. A copper rod of 88 cm and an aluminium
rod of unknown length have their increase in
length independent of increase in temperature.
The length of aluminium rod is

[0, =1.7x 105 K o, =2.2x 10° K]
A) 68 cm

B) 6.8 cm

C)113.9 cm

D) 88cm
88 Q&.L Hemupeter HTAlFEHEHevor(h LDMHMILD
BergSHer WHLL Osflung jsideflug
seoor(h @eummlest Her allifle) QeullLmlemev
AsflemU  FIIHSS 36V6V  6T6oilev
2169110 6071 LI 55 &5 600T L9.60T [HETLO 60T S

[0, =1.7x 107 K" o, =2.2x 107 K]
A) 68 cm
B) 6.8 cm
C)113.9cm

D) 88cm

10. The quantities of heat required to raise the
temperature of two solid copper, spheres of
radiir, and r, (r, = 1.5 r,) through 1K are in
the ratio

N4
B ¥
o) ¥
D) %

r, DOMID 1, (r, = 1.5r,) BT Q&TeooTL @) (H
sy Gammermgertler QeuliLiplensvenud Tk
emallm@ 2 Wiss CoHemeullmer GeullLl
3|66 &6 6T a9 G H LM

NG
B
o) ¥
D) %

11. A piece of ice falls from a height h so that
it melts completely. Only one quarter
of the heat produced is absorbed by the
ice and all energy of ice gets converted
into heat during its fall. The value of h is
[latent heat of ice is = 3.4 x 10° J/kg, g =10

(N/kg)]

A) 544 km
B) 68 km
C) 34 km
D) 136 km
h 2wrs@dehs &6p elwh @G
Lieofl&8L19.5 S1600T(h) (D(WPEISIDTS
2 BHHRANGIPMS. 2 [Heumer QeSS 6T
STLGEH  UellsGasLllquwmey 2 mMlehsll

LUGSBME. Uallsaslly GC alwbeUTs
ST MMV (PUEUSID  QeulILLDTS
LTHOULUGSMS. 6Tevl60 h-60T LDG) LTS
[UeflaLl1Iquiledr 2 6TEBemM
=3.4x 105 J/kg, g = 10 (N/kg)]

Q@euLILLD
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A) 544 km
B) 68 km
C) 34 km

D) 136 km

12. Tow rods A and B of different materials are
welded together as shown in figure. Their
thermal Conductivities are K, and K, The

thermal conductivity of the composite rod
will be

ENONNNR\
Nty

A) 3(K +K%

B) Kl%‘KZ
C) 2(K +K.)
D) K.+ K,
QeueuGeum  QUITHLGETTEL aheolr A
oMb B eteotm @ eoor(h  &Hevor(h &6
LULSH STLIguleTerelmml  LMHmenelsH s
@) 6060078 85 L1 LIL_ () 6iT6Te0T 3leumnil 6ot
Qeuuua'sasl_&,gu S\ M 6OTS 6T (WemmGul

K, wooinn K, 6Teofl6L @) 6mr6v0rL L Qumm
aall_@\g,gjswr&em QeaulILGSL G5 Hmeofleor
LG LILTeoTS

S ANy,
Aty

A) 3 (K, +K%

B) Ktk

C) 2(K. +K)

D) K, +K,

13. A black body is at 727°C. It emits energy at a
rate which is proportional to

A) (1000)* B) (1000)?

C) (727 D) (727)

@ SIHLD QUTIH6T 727°C QeuliLplemsuuiley
2 6TeMgl. 3H60T WMmeV GQeueflall(h afsd
Nemeu@d TG LUNDEG CBhIsHHalsu
lemlou]Ld ?

A) (1000Y* B) (1000)?

C) (727 D) (727)*

14. A black body has maximum Wavelength Am
at 2000 K. Its corresponding Wavelength at
3000 K will be

A) %Am B) %Am
C) $8am D) 8% am

@[ SMULOUTIHT 2000K QeuliLmlemnsuuiley
3|BHET GQLIBHLL 6MEUHBETID Am Q& T6voTL
SE\JeigFang Qeuerfladll_Lmev 3000K
QeuLlLBlemevuiley &5 (HLD QUITHET
Qaueflall(hLd &H e & 6ot 216mev HeTL0meoTS

A) 52m B) % m
C) 28m D) 8L am

15. The two ends of a rod of length L and a
uniform Cross Sectional area A are kept at
two temperatures T1 and T2 (T1 > T2) The rate
of heat transfer dQ/dt through the rod in a

Steady State is given by
dQ _ K(TL—Ty)
A)qt = 1A

B) % — gra(r—1)

dQ _ KA(T,—-T)
O g = L

dQ _ KL(T,—T)
D) = A
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Frmer MGG Qeall(h Ul A MHMILD
L Berld QomevorL Hevor(h). epedTiledT @)(H
(LPEDIGOTEGIT T, LOMMILD T, (T, > T,) 6T60T M @) (H B 6u Q)
QauliLmlemeuuiley 6M6UGH G LILIL (h 6IT6T60T.
Blemeuwlmeor Blemevuley SHevoriqedr UG
Qaeulil ufliommmd e uwjd efsld dQ/dt
60T LD LILIT60TS)

dQ K(L,—T)
A) gt = IA
B)%=KLA(T1—TQ)

dQ KA(T,—T)
Oa~ 1L

dQ KL(T,—T)
D)q = A

CHEMISTRY Q.No. 16 to 30

16. Carbon (Graphite) acts as an abrasive and
also as a lubricant due to

A) SP? hybridisation

B) Vanderwaals force

C) strong chemical bond

D) All of these
SITT LG (BT TenLIL) 3460TSI 2_FITUl6] oM MID
2 WeLl OQurr@aTrraa Q&F W6V LI(H 6UGH M & IT6OT
&ITJ600TLD

A) SP? @)60T&H&H6VLIL|

B) eumevorL_[J eumeveny ellemd

Q) euedlemin A& CouB LiLNemevorLiL]

D) &{6m6uTS&iLn

17. Aqueous solution of which of the following
boron compound will be strongly basic in
nature

A) NaBH,
B) LiBH,
C) BH,

D) Na,B,0,

GlpsmeooTL eHES  Gumymestleor  Brflwss
FHNTF6 HITIHH TN 2_60)L_UISI?

A) NaBH,
B) LiBH,

C) BH,

D) Na,B,0,

18. Choose the correct stability order of group 13
elements in their +1 oxidation state.

A)Al<Ga<In<TI

B) Tl <In <Ga <Al

C)Al<Ga<TI<In

D)AI<TlI<Ga<In
136u5 QBHTSGS & 607110 M1 &5 6rfl 60T
G Carmm  mlemevulledr  BlemevliLs
SerememWLll  QUMTMBSEH  Fiflwmer  +1
AU5F2Carmm alflenFanl CHTa] Q&UIs.

A)Al<Ga<In<TI

B) Tl<In <Ga<Al

C)Al<Ga<TI<In

D)AI<TI<Ga<In
19. Which pair of oxides is acidic in nature.

A) BeO,, CaO

B)B.O

,0,, Si0,
C) Ca0, SiO,
D) N,0, BaO

6THhE UGHMFH @) 60600TH6T (pair of oxides)
U6V E SeTemLD 2 60 WLISI.

A) BeO,, CaO
B) B,O,, SiO,
Q) Cag, Sio,
D) N,O, BaO
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20. The element that does not show catenation 1s

A) Si B) Ge

C) Sn D) Pb
FmIS e QS TLITE S8 5 60 60T
QauefllIL(R& S TS Sevflnld

A)Si B) Ge

Q) Sn D) Pb

21. The Green colour produced in the borax bead
test of chromium (III) salt is due to

A) Cr(BO,),

B) Cr,(B,0,),

C) Cr,0,

D) CrB
Gumrmgeny  eoofl  uledley  GGrmudlwin
(1 &ug LFME BIM&SMS SH(IH6US M TeoT
&ITT600T LD

A) Cr(BO,),

B) Cr,(B,0,),

0) Cr,0,

D) CrB
22. The amorphous form of silica is

A) Quartz

B) Cristobalite

C) Tridymite

D) Kieselghur
Fe9Eamalle LIS aUlelldMmm SjemLDLIL]

A) G6UTITL6MN

B) G flervGLTLIem6vL

Q) LemJIqeminL_

D) W &HQFVSHI

23. The one that is extensively used as a
piezoelectric malarial is

A) Quartz

B) Amorphous silica
C) Mica

D) Tridymite

68 WwsSsWleT  QUMertley
LweTUOSHmaEI?

L (hLD

A) G6UITITL6

B) LIQ& 2 Heulnmm Fledl&am
C) MG &HIT

D) LemJIQ6mLOL

24. Which of the following sets of quantum
numbers is not allowed?

A)n=3,1=2,ml=0,s=+1/2
B)n=3,1=2, ml=-2,s=+1/2
C)n=3,1=3,ml=-3,s=-1/2
D)n=3,1=0,ml=0,s=-1/2

GG Q&EMOH&ESLILIL(BHETET (G 6UTeoorL LD
6TE0OTSH 61T 16V FMHHUILD @)VEVTH S

An=31=2ml=05s=+1/2
B n=3,1=2,ml=-2,s=+1/2
On=31=3ml=-3,s=-1/2
Dbn=3,1=0,ml=0,s=-1/2

25. In the sixth period, the orbital’s that are filled
are

A) 6s, 5d, 51, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f

D) 6s, 51, 6d, 6p
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6-10 auflemsuilev, o FLIL L MeL&6T BlFDLLD
aliflens?

A) 6s, 5d, 51, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f
D) 6s, 51, 6d, 6p

26. The region in the electromagnetic spectrum
where the Balmer series lines appear is

A) Microwave
B) Infra red

C) Ultraviolet
D) Visible light

6oT&MHS BlImWTemnevuiley 61hs LGS ullev
UMl Q&ML euflseT G meaormISmsI?

A) IB1600T 2|60)6V86T
B) &I15F FleullL]

O Um 2e15m

D) & 6u0Tem01 M 6R6rf]

27.Azimuthal quantum number of Valance

electrons of Ga™ is (Atomic number of
Ga=31)

A)1=0
B)l=1
C)1=2
D)1=3
Ga*' 9l weoflulledr (9) 6v)600T S\ (D 60T

6T6VE LT 60T 61Tl 60T (&6 T600T L_LD 6T600T LOG)LIL
(Ga - 60T 2|600) 6T600T = 31)

A)l=0
B)I=1
Ql=2
D)l=3

28. The number of subshells associated with n =
4 and m = -2 quantum number is
A)4 B) 8
C)2 D) 16
GGUTEOOTL_LD  6T60OTSH6ET Nn=4 LOMMID m=-2
&H& 2_6UTLITT Slemeoorss  Fn (b Serfleor
6T600T600T 1 &>60) 85 6T60T60T?
A)4 B) 8
C)2 D) 16

29. The total number of orbitals associated with

the principal quantum number 5 is.
A)S B) 10
C) 20 D) 25

(NG EOTEMILD  (GH6UMEOOTL_ LD  6T600T 5-6V 2 _6IT6IT

QLTSS LTI LTeLE 60T 6Tev0T600T 860085
A) 5 B) 10

C) 20 D) 25

30. If the principal quantum number n = 6.
The correct sequence of filling of electrons
will be

A)ns - np — (n—-1)d —» (n-2)f

B)ns = (n-2)f — (n—-1)d = np

C)ns — (n-1)d - (n-2) f - np

D)ns —» (n-2)f = np — (n—-1)d
(LNSEOTEMLN GH6UMTEOOTLLD 6T600T N=6 6T60TMITEV
6T6VE LT IT6OT S 60) 61T Bl L1L6U & M & MeoT
Frflwmeor eauiflens
A) ns — np — (n-1)d — (n-2)f
B) ns — (n-2)f — (n—-1)d — np
C)ns — (n-1)d — (n-2) f —np

D) ns — (n-2)f — np — (n-1)d
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| MATHS Q.No. 31 to 45 |

31. If the function f(x) = 2x* — 9ax? + 12a’x +
I, where a > 0, attains its maximum and
minimum of p and q respectively such that
p’=qthenais

A)1/2 B) 1

C)2 D)3

f(x) = 2x* — 9ax* + 12a’x + 1, a > 0 eTedTM
FryLier QUBLOLD LDMMID FIMILD DG LIL| & 6T
WenmGW p, q LDMMILD p? = q 6Tevflev a-@)6oT
DGLIL

A) 1/2 B) 1

C)2 D)3

32. The minimum value of 263427

A) 27 B)2

0) 1 D)0

2063427 @i 18F R 1 LG

A) 27 B)2

O)1 D)0
33. The difference between the greatest and least

values of the function f(x) = sin 2x — x on
[-n/2, m/2] is

> <—+/>
e
1)

D)(

f(x) = sin 2X — X eT60TM FMFLMeTS [—7/2, T/2]
eTedTm @ emLGealeflufley WSUGQUIEH HmILD
S&ERm LG &6 e Geumiim()

A)n

B [5+7)

(252

6

Sy

34. From the square sheet of side 30cm, 4 square
corners are cut out and then make a open box
of maximum volume then total surface area
of open box is

A) 400 cm?
B) 500 cm?
C) 800 cm?

D) 2000 cm?

30 Q&S BerupeTemn FSIT QU6 SH&HL 160
BITET&  eeme&HeTley Fln  IjeTe6Ter
FSITHRIGET Qe LUl (® M HmbHs
QUL L 2 HUMESLUILURSH M 6Tent 16,
FMHH CILLIQUINET ST 66| QLIHLOLDTS
QBSHGLD CUMEI SIF60T QLTSS LIMUITLIL

A) 400 cm?
B) 500 cm?
C) 800 cm?
D) 2000 cm?
35. Let a, b, ¢ be positive numbers If az” + g _bcz'
a

for all x > 0, then the minimum value of ¢
1S

Al B) 2
4 2
© 97 D) 97
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b . . ab® . .
axr’ + - = € eTeueuIT x>0, eT6ntlev CLT—GOT S&EF M
LOGIL, [a, b, c 6T6dT LIGOT LOI6D) &> 6T600TE 61T 6T60TS5.]

Al B) 2
4 2
©) 97 D) 57

36. Let P(x) be a polynomial of degree 3. If
P(x) has maximum at x = —1 and P!(x) has
minimum at X = +1 then P(x) has minimum
atx =

A)1l B)2

03 D)0

P(x) eTeOTLI& (WOLILILGG&HTem6el 6T6oTdh. Xx=-—1

6TemIlD CUIME P(X) Qb60T&l LOLIQLIHLD LDMHMILD

x=1 eTeDCUMEH P(x) Le01dl WFF MDD

eTeoflel x — 61 6TGHILINEG Px) 260TSI

ISEF MIDLD SjemL_U|LD

A)1 B)2

C)3 D)0

— Lo —T T
37. If f(x) = sin®x + Asin’x, A <z < A has

exactly one maximum and one minimum,
then A€

A)(-1,1)
B) (-2,2)

C)(-2,0)u (0,2)
D) ("%5:0)u(0. %)

. - -7 Vs :
f(x) = sin®x + Asin’x, A <z < A &S
Flumes @M SAHSULFD WLHmID e
GMMBSLILEFLD QHHSHTEL LE

A)(-1,1)
B) (-2, 2)

O)(-2,0)0u(0,2)

D) (“35,0)u(0. %)

38. The greatest and least value of f(x)=[x*-5x+6|
1s [0, 5/2] are

A) 6,0
B)6, 1
C)4,0
D) 6, 1/4

f(x)=x>-5x+6] <peora [0, 5/2]-60 QUMILD
WSUQUH moID ISFS M I0SHLIL]

A)6,0
B) 6, 1
0)4,0
D)6, 1/4
— X — - o -1 a—XxX
39. If y=+v(a—x)(x—b)—(a—Db)tan pa—

dy .
then qx 18 equal to

A) (a—z)(xz—b)

1
B) fe—oGb)

C) /1%

a—x

y=y/(a—x)(x—b)—(a—b)tan™
dy . .
6T60fl6L ey OGLIL

a—Xx

x—b

A)V(a—z)(x—0b)

1
(a—z)(z—b)

C) /5=%

D) /=2

B)
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ys
2

— a1 /1tsinx
40.1If y =tan 1—sin x °
dy
dx 18
—1
A) 5
B) -1

C)

D[

D) 1

— tan~" /1+sinx
y 1—sinx’
dy . .

Pl &1L

T<e<m  aeflé

S

B) -1
1
O 5
D) 1
41.If f(x) = x + tan x and f is inverse of g, the
g!(x) is equal to

1
A1) -2

1
B) 1@ —2)?

1
O3+ -o

1
P 2=y ~a)

f(x)=x+tanx wOOMID f eTeOTLG g-60T
GBIFLOMMI 6T6vfl6v g'(x)-60T LOGILIL]

1
AT @) -2

1
B) 1 @) —2)?

1
O+ -o

1
g(x) —z)

2

D)5

<z <7, then

2.0 +y = t—+
dy
dx

A) -1

2’y - 1s equal to
B)O0
C)1

D) none of these

x2+y2 — t__
z d—y—GéT OS]
Y dx
A) -1
B) O
01

D) ergi6Lil6L6mr6V

tan™! 1%73;2] is

A)0
B) 1

1
1—x

C)

2

1
D) 1+2?

2z
1—2°

UM H G & (LD

tan™!

A)0
B) I

1
1—2z

9

2

1
D) 1+2?

10

43. The derivative of sinl[ 2z

and ' +y' =1+ ;

7 then

% DM mILD x4+y4=t2+tl*2 6T60r 6V

154 ] with respect to

2z

]g QUITMHS S sin”[—] - 60T

1+
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44. If y = sin x° and u = cosx, then 3—§ is equal to

A) —cosec X cos X
Tc 0
B) 1g8() Cosec T cos T

O %cosec T cosx’

D) none of these

e . dy |
y = sin X° LOMMID u = COSX, 6160116V gy -60T
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A) —cosec X cos X
e
B) 1gp cosec x2°cos
—T
@) g0 cosec & cos x’
D) none of these
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45. 1t /2" + 3 = ae™ ¥ 2> 0, then y"(0) is equal
A) %e—n/z
B) ae™”
;2 ~r/
C) e
D) not exist
7 +y =ae” ) 20, areofléb y!'(0) &bt LBILIY
A) %e—n/z
B) ae™
;2 —r/
C) e

D) @6ummI6T eTg6aLdl606m6V
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